%75 MEERKFRERETRE K—F &K

MI1X & £ 1L — 2

B No. I —% I R A L
1 FRith (LK B) 2 411723
2 Krd (FIERYA) DNS
3 Nt (R ILRE A) 1 40751
Z B (fEEREB) 3 431752
MI1X & 4 &L — 2D
B No. 7 —% AN R A L
1 Jull (FEKRY: B) 1 418777
2 alf (FEE R A) 433”85
3 KV GREIRY) 2 419753
M1 X #R A S
JEf7 7 N—4% B
1 Nt (LR A) 5
2 FRith (ALK B) 3
3 Jull (FEKY: B) 2
4 KF (ERIRE)
5 B (FEEK: B)
6 iR (FEERYEA)
DNS K (BEREA)
M2X & 4 L L — 2O
B No. I —% g A
1 miliR: B (OP) 2 413712
2 FIRKY A 1 3’54725
3 EEREA 3 4’31791
+ FIERY C DNS
M2X & 4 L L — 2D
B No. 7 —% AN R A L
1 FIERE B 2 357”38
2 ALK A 353742
3 fEEKY B 3 407783




M2 X it
JIEAT 7 —4% 15
1 MR A 5
2 FIRKRY A 3
3 FIERYE B 2
4 fEEKY B
5 EERY A
OP MK B
DNS FEIRNF C
M4 X+
B No. 7 n—% I KA I &3
1 PN 1 339”39 5
2 NIIpNES 402723 2
3 EoyNES 2 349”70 3
W1 X 3
B No. N —% H A £ A L (E31
1 HF (FIERY B) DNS
2 AN (RILRE) 1 507”13 5
3 B (BIRKREA) 5'37°48 2
4 A (BEKRYEC) 2 527”51
W2 X Jefi
B No. 7 —% & E LA N
1 FIEKRYC 3 5'05793 2
2 FIERT A 1 420736 5
3 FIERE B 2 431733 3
W4 X+
B No. I N—% A E £ A L (E3=
1 FIRKY B 2 5'49”51 3
2 FIERF A 5’1450 5
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EERY |3 3
EHIRE |0 4




